
Scientific Notation (B)Convert each number from scientific notation to an ordinary number.
9.5 × 10⁻⁴ = 3.38 × 10⁻³ =
5.2 × 10⁻⁶ = 7.59 × 10⁻⁸ =
8.8 × 10⁻⁷ = 5.54 × 10⁻⁸ =

7.036 × 10⁻⁸ = 8 × 10⁻⁶ =
6.977 × 10⁻⁷ = 5.9 × 10⁻⁴ =

1.9 × 10⁻⁴ = 2.49 × 10⁻⁶ =
1.5 × 10⁻⁶ = 8.9 × 10⁻⁵ =
6.7 × 10⁻³ = 1.51 × 10⁻⁶ =

8.015 × 10⁻⁴ = 7.567 × 10⁻⁴ =
5.916 × 10⁻⁷ = 4.1 × 10⁻⁷ =
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Scientific Notation (B) AnswersConvert each number from scientific notation to an ordinary number.
9.5 × 10⁻⁴ = 0.00095 3.38 × 10⁻³ = 0.00338
5.2 × 10⁻⁶ = 0.0000052 7.59 × 10⁻⁸ = 0.0000000759
8.8 × 10⁻⁷ = 0.00000088 5.54 × 10⁻⁸ = 0.0000000554

7.036 × 10⁻⁸ = 0.00000007036 8 × 10⁻⁶ = 0.000008
6.977 × 10⁻⁷ = 0.0000006977 5.9 × 10⁻⁴ = 0.00059

1.9 × 10⁻⁴ = 0.00019 2.49 × 10⁻⁶ = 0.00000249
1.5 × 10⁻⁶ = 0.0000015 8.9 × 10⁻⁵ = 0.000089
6.7 × 10⁻³ = 0.0067 1.51 × 10⁻⁶ = 0.00000151

8.015 × 10⁻⁴ = 0.0008015 7.567 × 10⁻⁴ = 0.0007567
5.916 × 10⁻⁷ = 0.0000005916 4.1 × 10⁻⁷ = 0.00000041
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